GLA Population Yield Calculator
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Notes
sample size of 17 sites

Shaded cells require user input

Select both geography and PTAL

For developments in Outer London with PTAL 5-6 use [London/PTAL 5-6] o [Outer London/3-4] to calculate yield

Yield from Development

(persons)
Market & Intermediate Socal Total
Ages0,1,2,384 00 72 72
ges 5,6,7,8,9, 108 11 00 15 15
ages 12,13, 14 815 00 04 04
nges 16817 00 02 02
15.64 00 213 213
65+ 00 05 03,
rotal Yield 00 262 262]
Play Space Calculator
[Fotal Cridren T Y} ]
[ TBenchmark (m) | Total play space (m’) |
Play space requirement 10 436

Total Units = 16

Outer London3-4

ondon
Inner London
Outer London
PTALO2

PTAL3-4
PTALS6

Estimated yield from a development of 16 units
Located in Outer London with a PTAL of 3-4
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